HASCO

Z81/.../90

Mat.: 2.0401

5 780/
LT < 7801/
% \ Cr‘ S 4 7807/ P Info
— el 782/
:T AQ! | DI 158
o DN 2999
SW L |1 |2 d2 d4 d o Nr./No.
11 o7 9 23 45 9 M 8x0,75 | 90° 781/ 9/ 8x0,75/90
6 M10x1 9/10x1 /90
R1/8 9/R1/8/90
15 34 11 25 9 13 M14x1,5 13/14x1,5 /90
R1/4 13/R1/4/90
24 47 16 42 13 19 M24x1,5 19/24x1,5 /90
R1/2 19/R1/2/90
Z811/...
Mat.: 2.0401
D
e 780/
155y o TSl « 20/ P Info
7876/ © [~ 7805/
oS 782/
~DN 3863 ]
p [bar] max. °C SW l4 L do ds d Nr./No.
10 Viton®/ 200 15 12 29 6 9 M14x1,5 Z811/ 9/14x1,5
G1/4A 9/R1/4
15 17 30 9 13 M16x1,5 13/16x1,5
G3/8A 13/R3/8
20 27 16 51 13 19 M24x1,5 19/24x1,5
-|-| . . | . I G3/4A " 19/R3/4

5.9

www.adultpdf.com



